COT 4210 Quiz #3
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1. Does a Turing Machine with only a right move option have the same power as a regular Turing Machine? If so, prove it. If not, what languages can it accept? Why?

2. Let A = {0}, if God exists, or let A = {1} if God doesn’t exist. Is the language A a decidable language?

3. Show that the set of complex numbers of the form a + bi, where a and b are integers is countable. Clearly describe a one-to-one mapping between the natural numbers and this set.
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 L(M) }. Prove L is decidable.
